

$$f(n) = y = \sqrt{n-2} \rightarrow y_1 = y_2 \rightarrow \sqrt{n_1-2} = \sqrt{n_2-2} \Rightarrow n_1 = n_2 \quad \checkmark$$

$$\rightarrow n = \sqrt{y-2} \rightarrow n^2 = y-2 \rightarrow \boxed{y = n^2 + 2}$$

6

$$b) y = n^2 - 2n + 2 \rightarrow (n-1)(n-1) \rightarrow \boxed{y = (n-1)^2 + 1}$$

$$\rightarrow y = n^2 - 2n + 2 \rightarrow y = (n-1)^2 + 1 \rightarrow n(y-1) = 1 \rightarrow y = \sqrt{n+1} + 1$$

$$f(n) = y = n\sqrt{n} \rightarrow (y-n)^2 = n \rightarrow y^2 - 2yn + n^2 = n \rightarrow y^2 - 2yn + n^2 - n = 0$$

$$\rightarrow n^2 - n(2y+1) + y^2 = 0 \rightarrow \Delta = (2y+1)^2 - 4y^2 = 4y+1$$

$$\rightarrow n = \frac{2y+1 \pm \sqrt{4y+1}}{2} \quad f^{-1}(n) \quad y = \frac{2n+1 \pm \sqrt{4n+1}}{2} = n + \frac{1}{2} \pm \sqrt{\frac{4n+1}{4}}$$

$$n + \frac{1}{2} - \sqrt{\frac{4n+1}{4}} = n + \frac{1}{2} - \sqrt{n + \frac{1}{4}} = \frac{2n+1}{2} - \sqrt{n + \frac{1}{4}} = \frac{2n+1}{2} - \frac{\sqrt{4n+1}}{2} = \frac{2n+1 - \sqrt{4n+1}}{2}$$

$$y = \frac{n}{\sqrt{n^2-2}} \rightarrow y_1 = y_2 \rightarrow \frac{n_1}{\sqrt{n_1^2-2}} = \frac{n_2}{\sqrt{n_2^2-2}} \rightarrow \frac{n_1^2}{n_1^2-2} = \frac{n_2^2}{n_2^2-2}$$

$$\rightarrow \frac{n_1^2}{n_1^2-2} = \frac{n_2^2}{n_2^2-2} \Rightarrow n = \frac{y}{\sqrt{y^2-2}} \rightarrow n^2 = \frac{y^2}{y^2-2}$$

$$n_1 = \pm n_2 \quad \checkmark \quad \text{با توجه به اینکه } n \text{ عدد صحیح است} \quad \rightarrow n_1 = n_2 \quad \checkmark \quad \text{با توجه به اینکه } y \text{ عدد صحیح است}$$

$$f(-\frac{1}{5}) \rightarrow f^{-1}(n) = -\frac{1}{5} = \frac{n}{1+n} \rightarrow \frac{n}{1+n} = -\frac{1}{5} \rightarrow 5n = -1 - n \rightarrow 6n = -1 \rightarrow n = -\frac{1}{6}$$

$$g^{-1}(-\frac{1}{5}) \rightarrow g(n) = -\frac{1}{5} = \sqrt{n} - 1 \rightarrow -\frac{1}{5} + 1 = \sqrt{n} \rightarrow \frac{4}{5} = \sqrt{n} \rightarrow n = \frac{16}{25} = g^{-1}(-\frac{1}{5})$$

$$f(-\frac{1}{5}) + g^{-1}(-\frac{1}{5}) = -\frac{1}{5} + \frac{16}{25} = \frac{-4+16}{25} = \frac{12}{25}$$

9

$$f(n) = y = n\sqrt{n} \rightarrow n = y-1 \rightarrow y = n\sqrt{n} + 1 = f(n)$$

$$g(n) = n^2 + 1 + \sqrt{n^2 + 1} \rightarrow g^{-1}(12) = 12 = n^2 + 1 + \sqrt{n^2 + 1} \rightarrow 11 = n^2 + \sqrt{n^2 + 1} \rightarrow 11 + 1 + \sqrt{9} = 12$$

$$\rightarrow g^{-1}(12) = 2$$

10